2VE 4a ~ 2 /2 = 3
RS ips L Flap 7 - T2
111.05 i 37
TP ERE(E 2
% LI i
ST
2 £ - £
RN & 130 130
HEY 250 250
A& 150 150
LRy -ty - 350 800
Pk AR 4 240
=
P ABIREE AT D 100 -
51";}&?9—":'\‘3“;/
%
AR R 50
7 44 50 150
R E AN SR S
A
AT 2 higk % (F T EP)
F e bR 10~300 -
R A3 (R EHD) 10~300
e AR A 10~150 -
7 A4Sk (A )R> B FE000 ~2r) 100
REINAE (T 2 F42) 50
WG Y- ~ % & 200
YN, 300
| A = _
piE
Ay ~ 5T & 600
T l#\r/%xz}_iuit}% TR FRF L AEERE > EEA fﬁﬂ\l’%fli%”f*%ﬁ
BHADFT e ¥
LA
(DAES 1 pd s $hF - LB RS » FRIESNG (#4552
253G ACHIET R FERIG LR FEnfr E’E"#f%ﬁ*ﬁﬁﬁf‘f’—
(D)FEZ CHRFARF AL B REFA=(FZRZEP ) 37 RESIAL G
¥ o
M e PR S R 2R LR FHEY G ERAN o GHES

%A o



DL WA
2 RN S

FL AL

Mgz~ 2~ 90 fou

200 ~/p ~400 ~/p

A4 f oK

E
™

X LY -

O WFedtA f ik 2 N FZRITR2Z 0 BT E o 1 BT
Afep # 30 p up 31-60 61 p 12k
S 10% 20% 30%
KALGFHER? P
/,%;»ia p iR ]?5#5—6» p i 3g
H A x5 2000~3,600 ~ A s 1,200 ~~1600 ~
oI T
7P £3F 7P £7%F
PR A PR 22,000-180,000 |2 #cim A Hrot R 140,000
PHAEHRE 26,400-132,000 37 W B fi-dm o R 1,200-1,400
B RR G A RE 33,000-143,000  [iF4r B (2B ) 5,000-7,000
KA RFF P FHIH
7B &3 7 p &3 7 p &%
WL B R 4,800 |#5 5B &L 2 8,500 R Aje4 (7 E 980
R 5,000  [# kA B AL 2 6,000 [T 45 700
RN 4500 |#E% 1,500-4,000 |z #%r+ 4 850
A % 1,200-5,900 | #x 5* 57 & 550-1,500 |&_3 % 3,000
L HE A 8,000 | ;5 B 680-2,000 |# ¥4 (* * ) |4,500-6,500
$g & &4 2 SOMI 15,000 |EF %5 B 3,500 | & (-] %) 4,500




NXBERG G ALK L F/AN G ArmrnrF+ 3548 ¢ %5 106.2.74%)
7P &% 38 B £%

B R 800 A 2R R SR 2,500
PR RN S R 1,500 |57 9 R 2 xR 3,500
vOBE R R R 2,500 FINEHELEN A FE R A LR 4,500
BB PR R G Apr i p T HRAR g p 100.11.17:0:8)
2R REER 2,000/% |&4 %D 800

AL kAR vk R 8,500 |37 P R S 1,000
ek S B | T P TR S 2,800 |BEEEEHNEFEEL 500
73 b pha N e TRl A 8,300 e pll gt R ResR G| 11,600
%iﬁy,{-;}%’ EeTAD A EHEY o (SARFAFEFRLR 680 109.11.17 4 8)
Wik R il 4,000-6,000 (% 7 HILA+7)  6,001-8,000 ( 7 HILA 47)
HE N AT 36,000 POAREE T i e i 6,900/=x
Xoap dAE B (- 4g) 24,400/ % g k2 % i (F)3R) 33,000/=%
E2 TR IR (2 MR | &% | OWERINEIG IHEY) | &4
e e 70,000 | FAEsL R F g R 80,000
PSR T A B s 70,000 | FLrpaL 2 &84 P s | 65,000
LA R A ) £ 90,000 | FLIEHAVL L § kg 95,000
2o gk S T oz £ | 70,000 | Whipple 5% ~ - = 55 52 i | 95,000
D 70,000 | =% B L 75,000
HEIECEE- R S 75,000 | § 7R 90,000
i 70,000 | + 3Tk 70,000
PR g L 80,000 | MLUEALT R 2k L 90,000
PR T R R kSR 90,000 | LPEALTHE K E B E SN 60,000
A e 60,000 | UL T HR R g S 60,000
Gk ey LR AL ip ek 80,000 | "EPp&LIFHk 222 if £ i 80,000
o E R B 90,000 | Fk B4 0% B g 100,000
% R AR AR B B A 100,000 | i iy ¥ jie 100,000
R 100,000 | & % ¥ R i3 AL g 100,000
R g 100,000 | & if £ jiF 100,000
wes PR e s b S 4 4) | 70,000 | 40 e S 100,000
Hesppbmetecd b £ i Se) | 80,000




KPP § K

B t& CR T
pFEer 30 [efmpEE (¢ ) 130
SRR DS 500 L fELETE (m2) 200
R 180 |h2mpE (Y <) 100
PIEEEL Lor STmm 2 600 [MAmpd (E2) 200
T 200 |#=@PE (¢ ) # /200
% TR 1000 |[»=@md (F2) 200
R E &g o imeE & 300 |FAF O wEp (HH) 50
EXE € S01 o 300 |FmE AR hLHEP 100
Yo g 8 A FEP B 20




